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Name: __________________________________



1
What is [image: image1.png]


 expressed in simplest form?

1) 0   2) [image: image2.png]


   3) [image: image3.png]5%



   4) [image: image4.png]x+4
%






2
What is the sum of [image: image5.png]=



 and [image: image6.png]i



 expressed in simplest form?

1) [image: image7.png]12
6x°



   2) [image: image8.png]


   3) [image: image9.png]5%



   4) [image: image10.png]17
12z





3
The sum of [image: image11.png]Za



 and [image: image12.png]


 is

1) [image: image13.png]


   2) [image: image14.png]


   3) [image: image15.png]


   4) [image: image16.png]




4
What is the sum of [image: image17.png]=



 and [image: image18.png]i



?

1) [image: image19.png]21
8x-



   2) [image: image20.png]


   3) [image: image21.png]


   4) [image: image22.png]




5
The expression [image: image23.png]e



 is equivalent to

1) [image: image24.png]


   2) [image: image25.png]


   3) [image: image26.png]da-b
3



   4) [image: image27.png]




6
What is [image: image28.png]


 in simplest form?

1) [image: image29.png]15757



   2) [image: image30.png]Tz



   3) [image: image31.png]5z



   4) [image: image32.png]=





7
What is [image: image33.png]


 expressed in simplest form?

1) [image: image34.png]AR



   2) [image: image35.png]6a



   3) [image: image36.png]Ta



   4) [image: image37.png]10
12a





8
Which fraction is equivalent to [image: image38.png]


?

1) [image: image39.png]


   2) [image: image40.png]


   3) [image: image41.png]


   4) [image: image42.png]b





9
What is [image: image43.png]10_3
5



 expressed in simplest form?

1) [image: image44.png]=



   2) [image: image45.png]


   3) [image: image46.png]2
35x



   4) [image: image47.png]35
35x
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What is [image: image48.png]


 expressed in simplest form?

1) [image: image49.png]7-
ox

<



   2) [image: image50.png]-y
122 - 6x°



   3) [image: image51.png]L4
121



   4) [image: image52.png]Ix-ly
127°






11
What is the sum of [image: image53.png]


 and [image: image54.png]


?

1) [image: image55.png]3x°
x-27°



   2) [image: image56.png]


   3) [image: image57.png]A
x-27°



   4) [image: image58.png]




12
What is the sum of [image: image59.png]


 and [image: image60.png]


 expressed in simplest form?

1) 1   2) 2   3) [image: image61.png]12y
y+5



   4) [image: image62.png]y+10
y+5
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The sum of [image: image63.png]


 and [image: image64.png]


 is

1) [image: image65.png]


   2) [image: image66.png]Sx+1
2%+ 6




   3) [image: image67.png]


   4) [image: image68.png]Sx+1
x+3






14
What is the sum of [image: image69.png]—x+7
T+ d




 and [image: image70.png]x+5
I+ 4




?

1) [image: image71.png]x+12
Ix+ 4




   2) [image: image72.png]3x+12
4




   3) [image: image73.png]x+12
4x+8




   4) [image: image74.png]3x+12
ax+ 8
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The expression [image: image75.png]ix+13_ 3x-6
x+6  2x+6




 is equivalent to

1) [image: image76.png]—x+18
x+3)




   2) [image: image77.png]—x+7
x+3)




   3) [image: image78.png]Sx+19
x+3)




   4) [image: image79.png]Sx+7
ax+ 12






16
The expression [image: image80.png]


 is equivalent to

1) 0   2) [image: image81.png]


   3) 6   4) [image: image82.png]
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Expressed in simplest form, [image: image83.png]


 is equivalent to

1) [image: image84.png]6y + 36y- 54
(y-6)6-20)



   2) [image: image85.png]


   3) [image: image86.png]


   4) [image: image87.png]
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What is [image: image88.png]


 expressed as a single fraction?

1) [image: image89.png]


   2) [image: image90.png]


   3) [image: image91.png]x+1

-1



   4) [image: image92.png]2x-1
-1





19
The expression [image: image93.png]


 can be rewritten as

1) [image: image94.png]


   2) [image: image95.png]


   3) [image: image96.png]


   4) 4

20
The expression [image: image97.png]246

=y



 is equivalent to

1) [image: image98.png]


   2) [image: image99.png]10
=




   3) [image: image100.png]


   4) [image: image101.png]
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The expression [image: image102.png]


 is equivalent to

1) [image: image103.png]


   2) [image: image104.png]


   3) [image: image105.png]


   4) [image: image106.png]




22
Algebraically prove that [image: image107.png]


, where [image: image108.png]X+ -2



.

1
ANS:
3

[image: image109.png]



REF:
081027ia

2
ANS:
2

[image: image110.png]



REF:
080917ia

3
ANS:
3

[image: image111.png]x 2 _3x 4x _Tx

%72 % "6tz ba




REF:
061630ia

4
ANS:
2

[image: image112.png]7 _l2x+ldx 26x 13




REF:
011120ia

5
ANS:
3
REF:
061424ia

6
ANS:
2

[image: image113.png]



REF:
010921ia

7
ANS:
2

[image: image114.png]



REF:
060929ia

8
ANS:
3

[image: image115.png]



REF:
081328ia

9
ANS:
3

[image: image116.png]10_3 _S0x-2lx _ 29x _ 29

52T a2 s 3%




REF:
011511ia

10
ANS:
4

[image: image117.png]7y 4oy 6xx-2) Ta-
12x°





REF:
061129ia

11
ANS:
4
REF:
011025ia

12
ANS:
2

[image: image118.png]o 10w+l 20+5)

1

y+5 T yrs  y+s  y+s





REF:
011230ia

13
ANS:
1
REF:
081409ia

14
ANS:
1
REF:
061024ia

15
ANS:
1
REF:
061220ia

16
ANS:
1

[image: image119.png]-1




REF:
011716a2

17
ANS:
3

[image: image120.png]kg 9 kg 9 _W-% _3-3) 3

-6 6-2p -6 -6 -6 20-3) 2





REF:
011325a2

18
ANS:
3

[image: image121.png]2 1 2x+1
-0 2G-0  2a-D





REF:
011608a2

19
ANS:
2

[image: image122.png]



REF:
062218aii

20
ANS:
4

[image: image123.png]



REF:
082321aii

21
ANS:
2

[image: image124.png]



REF:
081907aii

22
ANS:


[image: image125.png]



REF:
061631aii

